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Supplementary Data 5. Colocalization analysis of known loci showing nominal 
significance for replication. The graphs below (N=180) show the -log10(p) obtained from 
GWAS analysis in QGP compared to -log(P) obtained from GWAS analysis in BBJ. The P-value 
for testing the H3 and H4 hypothesis of colocalization are shown at the top of each graph. H3 
tests if the locus is associated with the trait in both QGP and BBJ but the association is driven 
by different variants. H4 tests if the locus is associated with the trait in both QGP and BBJ but 
the association is driven by the same variants.
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